PHYS302 Fall 2023
Homework 3
Total possible points: 23 out of 20
1. 4.8 from Hecht
3 pts, two for a good approach, one for correctness
2. 4.15 from Hecht
3 pts, one for good set up, one for using Snell’s Law, one for correctness
3. 4.23 from Hecht

3 pts, one for identifying a different refraction for red vs violet, one for attempting to find the lateral
difference in red and violet beams, and one for correctness.

4. 4.39 from Hecht
3 pts; 2 for good attempt, 1 for correctness
5. 4.54 from Hecht

4 points; 1 for attempt, 1 for identifying half the power as P_perpendicular, 1 for using energy
conservation, 1 for correctness

6. 4.84 from Hecht

4 points, 2 for a good explanation, 1 for setting up problem well, 1 for correct answer (minus 1 if answer
claims this is total internal reflection without specifying that the light is actually refracted—see
solutions.)

7. (E.C.) 4.36 from Hecht

3 pts, 2 points for setting up the problem such that you minimize OPL with respect to the point
(or angle) of reflection, 1 point for correctness
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